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1. In transmission, the channel capacity is shared by both communicating devices at all times.
(a). Simplex
(b). Half-duplex
(c). Full-duplex
(d). Half-simplex
2. Inasynchronous transmission, the gap time between bytes is
(a). Fixed
(b). Variable
(c). A function of the data rate
(d). Zero
3.  In 16-QAM, there are 16
(a). Combinations of phase and amplitude
(b). Amplitudes

(c). Phases
(d). Bps
4.  In cyclic redundancy checking, the divisor is the CRC.

(a). The same size as
(b). 1 bit less than
(c). 1 bit more than
(d). 2 bits more than
5. If odd parity is used for ASCII error detection, the number of Os per 8-bit symbol is

(a). Even

(b). Odd

(c). Indeterminate
(d). 42

6.  Flow control is needed to prevent
(a). Bit errors
(b). Overflow of the sender buffer
(¢). Overflow of the receiver buffer
(d). Collision between sender and receiver
7.  When a primary device asks a secondary device if it has data to send, this is called
(a). Polling
(b). Selecting
(c). Reserving
(d). Backing off
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10.

11.

12.

13.

14.

15.

The access method for wireless LANSs as defined by IEEE 802.11 is based on
(a). CSMA
(b). CSMA/CD
(c). CSMA/CA
(d). Token passing
A Bluetooth network can have master(s).
(a). One
(b). Two
(c). Three
(d). Eight
A bridge has access to the address of a station on the same network.
(a). Physical MAC)
(b). Network
(c). Service access point
(d). Logical port
In data communications, ATM is an acronym for
(a). Automated Teller Machine
(b). Automatic Transmission Model
(c). Asynchronous Telecommunication Method
(d). Asynchronous Transfer Mode

A subnet mask in class B has nineteen 1s. How many subnets does it define?

(a). 8
(b). 32
(c). 64
(d). 128

Given the IP address 180.25.21.172 and the subnet mask 255.255.192.0, what is the subnet address?
(a). 180.25.21.0
(b). 180.25.0.0
(c). 180.25.8.0
(d). 180.0.0.0
On a network that uses NAT, the  has a translation table.
(a). Switch
(b). Router
(c). Server
(d). None of the above
If the fragment offset within an IP header has a value of 100, it means that
(a). The datagram has not been fragmented
(b). The datagram is 100 bytes in size
(c). The first byte of the datagram is byte 100
(d). The first byte of the datagram is byte 800
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16.

17.

18.

19.

20.

21.

22.

23.

In distance vector routing a router sends out information
(a). Atregularly scheduled intervals
(b). Only when there is a change in its table
(c). Only when a new host is added
(d). Only when a new network is added
An ACK number of 1000 always means that
(a). 999 bytes has been successfully received
(b). 1000 bytes has been successfully received
(c). 1001 bytes has been successfully received
(d). None of the above
Which of the following does UDP guarantee?
(a). Sequence numbers on each user datagram
(b). Acknowledgements to the sender
(c). Flow control
(d). None of above
A signaling protocol that helps IP create a flow is called
(a). Integrated Services
(b). Differentiated Services

(c). RSVP
(d). Multicast trees
Slow start is used in conjunction with as a TCP congestion control strategy.

(a). Additive increase
(b). Additive decrease
(c). Multiplicative increase
(d). Multiplicative decrease
A server serves multiple clients simultaneously.
(a). Connection-oriented iterative
(b). Connection-oriented concurrent
(c). Connectionless iterative
(d). Connectionless concurrent
A Domain Name System (DNS) response is classified as if the information comes from as cache
memory.
(a). Authoritative
(b). Unauthoritative
(c). Iterative
(d). Recursive
In the email address johnson@mail.ncu.edu.tw, what is the domain name?
(a). johnson
(b). mail.ncu.edu.tw
(¢c). johnson@mail.ncu.edu.tw
(d). (a)and (b)
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24. Hypertext documents are linked through
(a). DNS
(b). Tags
(c). Pointers
(d). Homepages
25. In HTTP protocol, when a user needs to retrieve a document from the server; the request line contains the
method.
(a). GET
(b). HEAD
(c). POST
(d). PUT
26. A RENEATTE -
#include <stdio.h>
int main(void) {
int *p, q;
q=199;
p=&q;
printf(*“%d 7, *p);
printf(*%d”, p);
return 0; }
FBT 199 FRERIR A0 RS AIHERS 1000 » I Flif2 sORES B R TS
(a). 199 1000
(b). 1000 199
(c). 199 199
(d). 1000 1000
2. eGP TIYI TR UE 73 E (page) K/ N REIAL R 7
(a). Size of the page table
(b). Internal fragmentation
(c). CPU speed
(d). Input/Output time
28. #F UNIX i1 » file descriptor 0 34 {3
(a). STD_IN
(b). STD OUT
(¢). STD_ERR
(). PAEEIE
29. #F UNIX tf » FEIPE—IEHZAARLE disk inode SUHRRHER .2 7
(a). owner uid
(b). creation time
(c). pointers to blocks
(d). file name
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10.

(2). Mutual exclusion
(b). Hold and wait
(c). No priority

(d). No premption

Wy (FL10:E

Every Java applet begins execution at the function

The escape sequence \n represents the character which causes the cursor to position to the
beginning of the next line on the screen.

(True or False): A C program that prints three lines of output must contain three “printf”

statements.

In C, the statement which is placed in a repetition structure or a “switch” causes immediate exit
from the structure.

(True or False): An array can store many different types of values.

To simulate call by reference when passing a non-array variable parm to a function of C, it is necessary to
pass to the function.

Automatically reclaiming dynamically allocated memory in Java is called
(True or False): Records in random-access files must be of uniform length.

(True or False): If the file-position pointer points to a location in a sequential file other than the
beginning of the file, the file must be closed and reopened to read from the beginning of the file.

Give an example of exceptions in Java:
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public class Program1 {
public Program1()

{
System.out.printin(cal(10, 25));
3

public static void main (String args[])

{

Program1 program = new Program1();
}
public int cal(int a, int b)
{
if (b ==1) return a;
else return a + cal(a, b-1);

EREEEE CF) N
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import java.awt.*;
import java.awt.event.®;
import javax.swing.*;

public class MultipleSelectionTest extends JFrame {
private JList colorList, copyList;
private JButton copyButton,;
private final String colorNames[] = { "Black", "Blue", "Cyan",
"Dark Gray", "Gray", "Green", "Light Gray", "Magenta", "Orange",
"Pink", "Red", "White", "Yellow" };

public MultipleSelectionTest()
{
super( "Multiple Selection Lists" );
Container container = getContentPane();
container.setLayout( new FlowLayout() );
colorList = new JList( colorNames );
colorList.setVisibleRowCount( 5 );
colorList.setSelectionMode(
ListSelectionModel. MULTIPLE INTERVAL SELECTION );
container.add( new JScrollPane( colorList ) );
copyButton = new JButton( "Copy >>>");
copyButton.addActionListener(
new ActionListener() { // anonymous inner class
public void actionPerformed( ActionEvent event )
{
/I place selected values in copyList
copyList.setListData( colorList.getSelectedValues() );
}
}-// end anonymous inner class
); // end call to addActionListener
container.add( copyButton );
copyList = new JList( );
copyList.setVisibleRowCount( 5 );
copyList.setFixedCellWidth( 100 );
copyList.setFixedCellHeight( 15 );
copyList.setSelectionMode(
ListSelectionModel. SINGLE _INTERVAL SELECTION );
container.add( new JScrollPane( copyList ) );
setSize( 300, 130);
setVisible( true );
} // end constructor MultipleSelectionTest

public static void main( String args[] )

{
MultipleSelectionTest application = new MultipleSelectionTest();

application.setDefaultCloseOperation( JFrame.EXIT ON_CLOSE );

} // end class MultipleSelectionTest
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